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71| 3 |H=ES |13-40| T 29.0 29.0 29.0) FH(ZEsHAtE)

J18| 4 | HEZ |13-51| 7+ | 5,537.0 5,537.0 5,537.0) Z(FENAXTE)

7219| 5 |HES|13-58| F 104.0 104.0 104.0| F(FEHLFF)

71| 6 tH=E=zs| 80 d 2,142.0 2,142.0 2,142.0 HEH

7218| 7 HHEs | 81 | 2,282.0 2,282.0 2,282.0| et=50HESAL
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718 | 13 h=Zzs | 89-1 | & | 2,206.0 2,206.0 2,206.0 =SSO ESA}

7219 14 | tHZzS | 96-1 | H 436.0 436.0 436.0 Sl
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I |22 [OimS| 98 | © 280.0,  280.0]  280.0] &XA| -
718 | 23 |[HES| 99 | M | 3,218.0) 3,218.0 3,218.0/tRS0|EZA} F7IE AR EAS4ET
I | 24 =S| 102 | & 445.0]  445.0 4450 &EA| -
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718 | 33 |H=E[103-9| & 486.0,  486.0,  486.0 Z(ZE| AL -
718 | 34 HEZZ=[103-10| = 277.0 277.0 277.0| =% (F E5H AT -
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71 | 50 | HiZE 116-3 | & 43.0 43.0 43.0| = (= £l 2H7) -
JI | 51 S 117-1 | B | 1,431.0 1,431.0) 1,431.08250/£BA} 27IF 2g w7
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